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TNPSC GROUP I MAIN – 2023 

COMPOUND INTEREST TEST 
 

gphpT – m 
SECTION – A 

 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. Find the C.I. on ₹ 15,625 at 8% p.a. for 3 years compounded annually.     (5m) 

 ₹ 15,625 f;F Mz;L tl;b 8% vdpy;> 3 Mz;LfSf;Ff; $l;L tl;b fhzTk;. 
         

B. A principal becomes ₹2028 in 2 years at 4%p.a compound interest. Find the 
Principal.            (5m) 

xh; mryhdJ 2 Mz;Lfspy;> Mz;Lf;F 4% $l;L tl;bapy; ₹2028 Mf MfpwJ 
vdpy;> mriyf; fhz;f.  

 
 

2. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. The difference between the compound interest and the simple interest on a certain 

sum at 
1

7
2

% p.a. for 3 years is Rs 110.70. Find the sum.    (5m) 

xU njhif 3 tUlj;jpy; 
1

7
2

% Mz;L tl;bapy; nfhLj;j $l;Ltl;b kw;Wk; 

jdptl;bj; njhiffspd; tpj;jpahrk; &. 110.70. mj;njhifia fhz;f. 
 

B. At what rate percent compound interest per annum will ₹ 640 amount to ₹ 774.40 
in 2 years?           (5m) 
&. 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif &. 774.40 MFk;. $l;L tl;b 
tPjk; fhz;f. (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ) 
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3. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. Find the amount and the compound interest on ₹ 6500 for 2 years, compounded 

annually the rate of interest being 5% per annum during the first year and 6% per 
annum during the second year.        (5m) 

Kjy; Mz;by; Mz;Lf;F 5% kw;Wk; ,uz;lhk; Mz;by; Mz;Lf;F 6% vd;w tl;b 

tPjj;jpy;> 2 Mz;LfSf;F ₹ 6500 f;F nkhj;j njhif kw;Wk; $l;L tl;biaf; 
fz;lwpaTk;. 
 

B. Find the compound interest on Rs. 15625 for 9 months, at 16% per annum, 
compounded quarterly.          (5m) 
Mz;Lf;F 16% tl;b tPjj;jpy; 9 khjq;fSf;F 15625 &gha;f;F $l;L tl;biaf; 
fz;lwpaTk;. 
 

 

4. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. A sum compounded annually becomes 
25

16
time of itself in two years. Determine 

the rate of interest per annum.        (5m) 

Mz;LNjhWk; tl;b $l;lg;gLk; Kiwapy; xU njhifahdJ ,uz;L  Mz;Lfspy; 
25

16
 

klq;fhfpwJ. Mz;Lf;fhd tl;b tPjj;ij fhz;f. 
 

B. Find the difference between Simple Interest and Compound Interest for a sum of ₹ 
8,000 lent at 10% p. a. in 2 years.        (5m) 

₹ 8000 f;F 10% tl;b tPjk; vdpy; ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 
jdp tl;bf;Fk; cs;s tpj;jpahrj;ijf; fhz;f.  

 
 
5. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. At what time will a sum of Rs. 3,000 will amount to Rs. 3,993 at 10% p.a. 
compounded annually.          (5m) 
mry; &. 3>000 Mz;Lf;F 10% $l;L tl;b tPjg;gb> &. 3>993 Mf vj;jid Mz;Lfs; 
MFk;? 
 

B. A person took out a loan of 16,000 rupees from a bank which charges interest 
compounded quarterly. The annual rate of interest is 10%. How much should he 
pay back after 9 months to settle the loan?       (5m) 
xU egu; xU tq;fpapy; 16>000 &gha; fld; thq;fpdhu;> fhyhz;Lf;F xU Kiw $l;L 
tl;b tR+ypf;fg;gLfpwJ. Mz;L tl;b tPjk; 10%. flidj; jPu;f;f 9 khjq;fSf;Fg; 
gpwF mtu; vt;tsT jpUg;gpr; nrYj;j Ntz;Lk;? 
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gphpT – M 
SECTION – B 

 
Fwpg;G :  

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
Each question carries fifteen marks.  

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;.  
Answer any four questions out of five questions.   

(4 × 15 = 60)  

6. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 

A. Thomas took out a loan of 15000 rupees from a bank which charges 12% interest, 
compounded annually. After 2 years, he paid back 10000 rupees. To settle the loan, 
how much should he pay at the end of three years?          (9m) 
jhk]; xU tq;fpapy; 15000 &gha; fldhfg; ngw;whu;> mjw;f;F 12% tl;b tPjk; $l;L 
tl;b t#ypf;fg;gLfpwJ. 2 Mz;LfSf;Fg; gpwF> mth; 10000 &ghia jpUg;gpf; 
nfhLj;jhu;. flidj; jPu;f;f> %d;whtJ tUl Kbtpy; vt;tsT nrYj;j Ntz;Lk;? 

 

B. The value of a machine worth ₹ 500000 is depreciating at the rate of 10% every year. 

In how many years will its value be reduced to ₹ 364500? &. 500000 kjpg;Gs;s xU 
,ae;jpuj;jpd; kjpg;G xt;nthU Mz;Lk; 10% tPjk; Fiwe;J tUfpwJ. vj;jid 
Mz;Lfspy; mjd; kjpg;G &. 364500 Mf FiwAk;?          (6m) 

 
7. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. Vikram borrowed ₹ 20000 from a bank at 10% per annum simple interest. He lent it 
to his friend Venkat at the same rate but compounded annually. Find his gain after 2 
½ years.                 (7.5m) 
tpf;uk; xU tq;fpapy; Mz;Lf;F 10% jdp tl;bf;F &. 20000 fld; thq;fpdhh;. mth; 
jdJ ez;gh; ntq;fl;blk; mNj Mz;L tl;b tPjj;jpy; $l;L tl;b Kiwapy; fld; 
nfhLj;jhh;. 2½ Mz;LfSf;Fg; gpwF mtuJ yhgj;ijf; fz;lwpaTk;. 

 

B. If ₹ 40000 amounts to ₹ 48620.25 in 2 years, compound interest payable half-yearly, 
find the rate of interest per annum.            (7.5m) 
miuahz;Lf;F xU Kiw tl;b $l;lg;gLk; Kiwapy;> &. 40000 MdJ $l;L 
Kiwapy; 2 Mz;Lfspy; &. 48620.25 Mf khwpdhy;> Mz;Lf;fhd tl;b tPjj;ij 
fz;lwpaTk;. 

 
8. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

A. The population of a city increase each year by 4% of what it had been at the 
beginning of each year. If its present population is 6760000, find: 
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(i) its population 2 years hence 
(ii) its population 2 years ago.         (8m) 

xU efuj;jpd; kf;fs;njhif xt;nthU Mz;Lk; njhlf;fj;jpy; ,Ue;jij tpl 4% 
mjpfupf;fpwJ. mjd; jw;Nghija kf;fs; njhif 6760000 vd;why;> 
(i) 2 Mz;LfSf;F gpd;G  mjd; kf;fs; njhif 
(ii) 2 Mz;LfSf;F Kd;G mjd; kf;fs; njhif fhz;f. 
 

B. What will be the compound interest at the rate of 5% per annum for 3 years on that 
principal which in 3 years at the rate of 5% per annum gives Rs. 1200 as simple 
interest.            (7m) 

xU njhif jdptl;b Kiwapy; 3 Mz;Lfspy; 5% tl;b tPjk; &. 1200 jUfpwJ> 

vdpy; 3 Mz;LfSf;F Mz;Lf;F 5% vd;w tPjj;jpy; mNj njhiff;fhd $l;L tl;b 
vd;dthf ,Uf;Fk; 
 

9. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. The difference between simple and compound interest on a certain sum of money 

for 2 years at 2%p.a is ₹1. Find the sum of money.           (5m) 
2% Mz;L tl;bapy;> 2 Mz;LfSf;F Xu; mrYf;Ff; fpilj;j  $l;Ltl;bf;Fk; 
jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk; &. 1 vdpy;> mry; njhifia fhz;f. 
 

B. The value of a machine depreciates by 5% each year. A man pays ₹ 30,000 for the 
machine. Find its value after three years.                                       (5m) 
xU ,ae;jpuj;jpd; kjpg;G xt;nthU Mz;Lk; 5% FiwfpwJ. xUth; ,ij 

 thq;Ftjw;F &. 30>000 nfhLj;jhh;. %d;W Mz;LfSf;Fg; gpwF ,jd; kjpg;G vd;d? 
 

C. Rahman lent Rs. 16000 to Rasheed at the rate of 12 ½ % per annum compound 
interest. Find the amount payable by Rasheed to Rahman after 3 years.          (5m) 

u`;khd; u~Pj;Jf;F fldhf &. 16000 Mz;Lf;F 12 ½ % $l;L tl;bapy; toq;Ffpwhh;. 
3 Mz;LfSf;Fg; gpwF u~Pj; u`;khDf;Fr; nrYj;j Ntz;ba njhifiaf; 
fz;lwpaTk;. 
 

10. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 
A. A man invests ₹ 3072 for two years at compound interest. After one year the money 

amounts to ₹ 3264. Find the rate of interest and the amount due at the end of 2nd 
year.             (9m) 
xU kdpjd; ,uz;L Mz;LfSf;F &. 3072 $l;L tl;bapy; KjyPL nra;fpwhd;. xU 
tUlj;jpw;Fg; gpwF me;j njhif &. 3264 MfpwJ. tl;b tPjj;ijAk; 2 Mk; Mz;bd; 
,Wjpapy; njhifiaAk; fz;lwpaTk;. 

 

B. Find the compound interest on ₹4,000 accrued in three years, when the rate of 
interest is 8% for the first year and 10% per year for the second and the third years. 
           (6m) 
tl;b tPjk;; Kjy; Mz;L 8% MfTk;> ,uz;lhtJ kw;Wk; %d;whk; Mz;Lfspy; 

Mz;Lf;F 10% MfTk; ,Uf;Fk;NghJ> %d;W Mz;Lfspy; jpul;lg;gl;l ₹4>000f;fhd 
$l;L tl;biaf; fz;lwpaTk;. 


